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MAKESET (X ):
parent(x) «— x

Fiup(x):

while x # parent(x]
X < parent(x)
return x

Unton(x, y):
X «— Finp(x)
¥ <« Fmn(y)
parent(y) «— x
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UNIoN(X, V)

X «— FInp(x)

¥« Finn(y)

if depth(x) > depth(y)
parent(y)«— x

else
parent(x) «—y
if depth(x) = depth(y)

depth(y) « depth(y) +1
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FinD( X
if x # parent(x)
parent(x) « Finp(parent(x))
return parent(x
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UNIDN[J{' y)
X « FinD(Xx)
¥y « Fmn(y)
MaKESET(Xx ) if rank(x) > rank(y)
parent(x )« x parent(y) «— x
rank(x) <0 else

parent(x) «—y

if rank(x) = rank(y)
rank(y) «— rank(y)+1
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